] CIfr ) S H brrpil e

TSR E 2022

B CRED &R 751 SO E0 B R R R 0 2 Bl AR
EExH WE X
s &:2:x ) - . ) . .
AR G5 ot W Bk Tane | whme ot W Bk LA W
7019. 13| 1237. 83 1237. 83| 5781. 30 5781. 30
R A LIRS R AR, SO U S (e SRR AR AR T LA, SR e LB b, i Boe B b LR, IORE SR I, TR
sy | MRS RN, M S0 B, RIS AL TN RO K. MBI S
i
FEESHIBIR
— R — iR Pt SOHHIRIE R SOHHIRE SO R4 BE
B > 10 IS 5
TFIE AR > 200 B 5
4 NSRS AR > 0.03 Wt 5
BB & NA = 200 A 5
W
NBSciRvEER: Ot = 0.5 it 5
. RE AR b . B EIPRORH | > 330 % 5
g AR B IR S T OB RO > 12 iAW 5
’g GV E i 3 > 50 % 5
o AR et HRH 5
e
o PR > 99 & 5
e R et 11 5
B SR B FE etk HPH 5
AR A IR X A R etk HPH 5
e
SR A1 etk R 5
SRR 1 etk H 5
SR etk HP 5
SRR A1 et HE 5
RIS etk HPH 5
sty | SR P > % ! 10
%.

Jeft vt




202248 H b I H 88 H Aw e

5. FA
. . RO - . B
T H 4 R 2 4% RGO AT B A T F 43 AR i A,
B P e N ) 75 1l SRR E IR B
EEI ﬁMiﬁﬁggggix“ﬁ A BRI AR
FEET L B 50
HEEN s
Bk Forfr, Bk 50
A4
A R BT
s
E W 2 S KRR, WS TRMAT . FIROSF . RHRHE. K.
— gk — gk = fkT SRR ST $E bR
s 1=
%;}lﬁ}%$ﬂ)\ — 2/l\ 9
L S = 6528k 9
3 % o e il
B IE T gﬁgfgg > L34 g
RiaT TRk
B RS il = 24 9
e 1% 2
g%ﬁﬁ%i _ = .
L = 100% 9
2 g -
ERERE | = 1 9
S > 6 5
DTMBAf S HLE; - 3 -
ﬁ Rk R =
» RAAE gggﬁ%ﬁ > 10 5
7 BN
g%%@%ﬁ _ - -
AT 2 > 24 5
GRS
$ah7
e
e
T
AR
$ahT
TR
$hT
WEAR | WA R )
Wb | = 9ok 12




202245 H b I H @i H brdé

#l5. FAL
FEHN
5 475 St S RPR TEAHNRAE | ol
s o 11 L 50 I e E1 Y8 EL SO o R
FEA] ﬁﬁ/}j’?ﬁ%éﬁ% %E@ﬁ{i 4 B Fik
CEREVR 4 K 9
YR, =
%ﬁ%@ b WECRE 9
H A4
& ERE R
W et e db B 2B AR . ASEE A . SCIEE G S P IFRCE TR A M AT A, oh gt
E FOA . . PEREHL X 5 Bl R AANIARHE R0 20% . 50%FIB0% K L Bl ZHE RN R 4, AR B4
T i R . TR RIS
—GahE —JdEkT BV SebR R SabE( e
B 4a 47
AR = 80% 35
iy Sl
R g AT
PRAT Bt R = 98% 35
B A
5
% -
» R A TG AR
I
RO ] = 80%
e 30
$5hF
s
$5h7
e
AR
$akF
RS
$5h7
T2 %
R R




202248 H b I H 88 H Aw e

BAr. B
S 25 AV 5 424 == > *ﬁﬂé)ﬂ
T H 2 %5 ZENE ML T i H 75T N g 18680992121
s et 75 1 F | R B SR g g Fo 1l
EXce-dm R EE A St ERAL B B AL TR
FEET L B 20
R Y
et o Bk 20
HAth ¥ 4>
=y FJEH AR
N
E LR E LTI
— i ehs &= N =t Ei=p N Febn Ei=L AN bR AL E
BEERP RS = 1K 16
i el > 1R 16
XA = 1K 16
@ i1 7N
BB = 21Kk 16
ST SR = 1K 16
N B B 5591 > 4 20
e sk =y
JRE IR
4 ~
H
i
A B AR
S AR
Ei=tn
Heas
Ei=t
P EiztaN
ARG
Ei=tn
AT FHEE
=t
AR5 %t %
R iRk




2022445 H b0 H i3 H b e

2I5. FAa
‘ AT SZI [X 7 #
. I%E@ﬁiégﬁﬁm%ﬁ 43 % i wiﬁi@@
s 75 11 L0 B L B S A — R
B! 7 R B S B R 4 EL AR
S A 40
% et -
fptils o, AEREK 40
ol 4
a 42 B bR
W e 407570, HEHERAD T S e TE RO A R, FF IR — R B S ee i (R RS 48 T A
Ho | Ad07570, He—ibis e sIpia i, FRR AR e, B nsy, JHRARR. (. &
W pome e T
— kT — kR = k7 SEbT I SRbRME fekphlE
HeE T
R
T
3 EVe T
;‘f%ﬁ%ﬁﬁ > 675 7% 95
% B
¥ R |~ 12 2
" AL kL
¥ SR A = 127375 25
e
sk
o
sk
R
A
sk
R
sk
T2 %
W BESR T




202245 H b I H @i H brdé

Bl5. FA
FARE. BHEE. SCE 5 = . TRFER
i H 4P BT T TH SN 18696985848
Ny 75l L FGE G E Ve B Sce R ot e 751l S
FEA] ﬁﬁ/}j’?ﬁ%éﬁ% %E@ﬁ{i 34 EL A R
FE A A 135
VR ALY
%ﬁ%@ Foh, B 135
HAth ¥ &
ji FEH bR
N
E (RBE2TA S B SCAL H0 BT
— AR bR T FBR =75t Ei=p A kAl abrE FE PR EE
iiﬁgg%ﬁtw _ N 10
QTR =
I5ig=gi= g
IRl kLS
BN
5 A2k —
% Lt Bh R 5578 40
i R TN e
b
28
Ei=0
e
=LY
RRAE bR
Ei=7
EEsE=s-Al|
B0
544 % . 0
T RS FETHEE = 90% 20




20224F 8 Hbnde0i H 43 H bndé

BL5. FA
; IR 550 G A 2 TR e ~ 15
RE A N TUH SN 18680992121
3 pes 2o - 75 1 L SR i R B SR A PP ol L R
=S  REREERS SR AL 536 B SRR
PS4 R 152
R A
biaiie Sk MBI 15
Hofh i
H SERE AR
th
H | A E s w2 ol R AR b T330K, TR AR D T35/ 58 HFRAR
ko [P T8/E, AEER AUIERI16 5 AR
— YR — T = sk JabRbE R fakRil fekFIE
HEE. I
B, S5 - s I
REAERE R
9 AT = 300N 10
R T BUK \
oy |[PEUEEAT - e
Hl i
PRI > 167 AIK 10
B RAX 0
BRI A S5 1 = 80% 10
AR R TR R
2 AT MR ZBhRE = 5000\ 10
HEHE. I
B, S5 - B0R
WAL
i
M
G
= IR
A G b
GRS
fabi
s
$aks
R bR
A
fabi
TR
$abi
N ]
Wi 1|1 i 20




202245 H b I H @i H brdé

¥l HAL
NSRS R R R 4 , K FERN
i H 4% (I ) REAFN R 18696985848
1 A F5 S A iR B e o 75 W LR iR
FEA] ﬁﬁ/}j’?ﬁ%éﬁ% %E@ﬁ{i 34 EL A R
EERE LT 57
B &M i o,
(ﬁj—n‘) /\EP: m\j‘ﬂ?ﬂiﬂ“‘}\ 57
HAh %4
pet SRR H AR
ZEN
E BIPBEOCAES, EEREAENE, BRI SURS, 2 REAE20 5 AR
— R AEhR /%<0 =R ARhr FabRTE R febrfl FEPRRLE
ZIMNEIHIR (= 3K 40
=R [=0
WA | = 205 NIX 40
JiR AR bR
7= AR AR
INEVEIE A
45 e
%% ARG FR
g
b
Zr e G
fabx
AR Gt
faks
ROR AR AR
Aoy G
febx
CIEsE=5-211
Ei=L2D
R 55 % 52 o - ,
T RS BEOGH R = 95% 20




202245 H b I H @i H brdé

L5, B
15 6 4475 2 A R Wi H 6 AL S 15%31%
i o L1 E- 5005 i e 1 98 B SO o T 1 T
EEHI] el A S BEER A ¥ Bl
SR B4 R 499
VR A Y
L Soob: W 199
HAh % 4
H SRR E AR
th
B |Far S TR, TR B AT KRS T &, BT S BE R A R T
|G, BREASANER ST G KR A620 E RA RN P AN B L
— ST — e hr = f5kR FbR R bR FabiALE
7R RN R
jj\éﬂ o 620/ 25
B2k 5
R ?i;‘f i 274 25
%fﬁﬁ%ﬁ% san ,
Ll Gy £ = 98% 25
R B4 b
7 4R
I 2 b
4%
% -
9 AR bR
b
G P
$obr
Mo
Jabr
HORASHT
A
$o kT
T R 5
Jabr
R 25 54 5
W 2 S AT




20224F 8 Hbnde0i H 43 H bndé

BA5. FAL
;aj Eo: - ANS 14
A o ﬁﬁégi?m o BB B miﬁé&u
3 pes 2o - 75 1 L SR i R B SR A PP ol L R
=S  RREERL SR it B RR
S 4 0 1678
BEHO o
(F) Crp IFBULEK 1678
HAh %t 4=
P EFEH bR
[N
Ho lmsse.
N
— G5 kF — Sgishy BT $ebRiE R bR kA
i}%i}ﬁ%)\ﬂ‘ = 200\ 10
REB IR \
PPN 30 = 151K 10
fgg;{%ﬁﬁﬁ: = 30K 10
i 4k BB
o ﬁ$%& f = 6% 10
i e _ P
AL -
i A % _ ol 1
& NA N _ o
Pt HB R - s I
TR _ W
Ibi§=€izv7
57}
%
4
% €N
ATE bR
G
$4k5
AR Gt
feks
R
AU
$4k5
SaEE (B S
B v Kt it I HHEA 10
BEAR | oo e 0
%%}Ejﬁﬁ? ﬁ%}\\ﬁﬁz‘ﬁ'\x = 98% 10




202258855 H AR H S8 H bk

¥l5. FA
REINX GRZRrE) xR . K FERN
T H A XA ESRY X E3 WA SR 18696985848
A 75 F R AR Bk S . 75 W LR iR
jﬁ%‘%ﬂlj - ﬁ’[ﬁ/ﬁ?ﬁ%é%% iﬁ@i’ﬁl‘ HaE ik
FEREBM: 20
piie ot MBI 20
Hih# &
J=! EE B
1%
B |IRBREM AR BRESIER. R K, Rk 7R 5 Hh X s = g3 S0l i fi B
F[RE
— g Fatr i) 7 =%Taks etz favrE B E
HIFEZRLA _
e - 15 35
BERRE | wnldEsAR = 14 35
R ETRFR
F= HFa s
g
%
4
o A TR R
7
2 G
Ei=Z 7
Pang ) it
Ei=27
FORRA XCE BT | o RE "
B e
£z
CIEsR:3-2
Ei-L)
R %55 %
WREER




202248455 E H 2800 H Si% H b

LS. F
NSRS R R BB T 4 = . SN
BH &5 BRI RARFNB A 18696985848
X 75 (Lt 500 1 1 9 ¥ B S A ‘ N T LR
EEH] R R A £ B A 536 B LR
EEREBM: 126
REMR Hoft: MR 126
Hihds
B FE B
&
E? FE TS 7 SRR A A SRS T
— K FabR IR =& Bk izt EN HehE B E
ViR R % _
o - il
RS IR AL = IR/ 20
BT gfgg* - | 20
ZE IR B = 201K 20
24 pEEI BE = 3K 20
=R
FAEHR
% (B E Y
£
b=
W
3% iy
2NV S g
=770
HEBEE
Ei=t
FRFehR
ERMUER
Ei=La
CIER 8=
s
RESTHR
W E R




